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(b)) What is rationing?

(0 The quantity demanded of a Giffen good

@)
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varies with price.

(i) indirectly
(i) directly
(i) independently

(iv) All of the above

( Choose the appropriate answer )

The cross-elasticity of demand
estimates the proportionate relationship
between

(i) quantity demanded of a commodity
and the price of its related

commodity

(i) quantity demanded of a commodity
and its price

(ifi) quantity demanded of a commodity
and the income of its purchaser

(iv) None of the above

( Choose the appropriate answer )

( Continued )
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Or

Define income effect and substitution.
Explain the income effect in case of
normal inferior and Giffen goods with
the help of suitable diagram. 2+3+3+3=11

Explain why the short-run AC and

long-run AC curves are U-shaped. Why

is LAC curve flatter than SAC? Why is

LAC curve called as envelope curve?
4+4+3=11

Or

What are the basic objectives of a firm?
Discuss how a firm maximizes its profit
under perfect competition in short run
and long run. 2+9=11

What are the basic characteristics of
input market? Explain the derivation of
input demand curve—

(i) when a firm employs one variable
factor of production;

(i) when a firm employs two variable
inputs of production in short run
and long run. 3+4+4=11
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